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TR 5% B 5 AR

realmCode 1.1 | He3gAR1g, "CN” AAEFHE
SCRE MR, SR E

typeld 1..1 | @root="2.16.840.1.113883. 1.3,
@extension="POCD MT000040”
SCRR 5 01D, Hidre

templateld 1..1 ., L,
root="2.16. 156. 10011. 2. 1. 1. 27
SRR SRR,

id 1..1 | @oot="2.16. 156. 10011. 1. 17, Tfij EAAKf
EHHHLERE N, JFE T id/@extension H
FAR UL SO 2R 2, Hor
@code="C0007",

code 1..1 | @codeSystem="2. 16. 156. 10011. 2. 47,
@codeSystemName=" A {Z B 2= 4 4y
Ak 2"

title L. 1| SCRYRRRR, MeAbSg: A i

effectiveTime 1.1 | SO B e (]

confidentialityCode 1..1 j{ﬁﬁ%ﬁ@%fﬁﬁ%; AHFEH: .,
@codeSystem="2. 16. 840. 1. 113883. 5. 25
ANE E R mtY, HAhEA A

languageCode 1..1 ., .,
@code="zh—CN

sotld 0. 1 YRR AT, HLUBEMEITHUR . HAE
&4 H 34

versionNumber 0..1 | XRYEAS

5.2 &5&%HE
2 5FH I TR G EAE T G R R WAR3 .
3 SEELRRARKESRIETHMNR LR
TLR B EH VL RSE 30 B AR RAT
SCRSTE N R B B IR G,
recordTarget 1..% | BE{EetypeCode="RCT”,
@contextControlCode="0P”
|--patientRole 1..1 BEME, RRAE

@classCode="PAT”
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-|--id

17 (B 25bail, HpsyE
@root="2.16. 156. 10011. 1. 117, 1M
BARKIZm 5 BT id/@extension

DEO1. 00. 010. 00

--id

{ERE S hriR, HPsEE
@root="2.16. 156. 10011. 1. 127, W
BARI%% 5 BT id/@extension H

DEO1. 00. 014. 00

--id

K36 2 H g, Horp
@root="2.16. 156. 10011. 1. 33", W
BARKI%% 5 BT id/@extension H

DEO1. 00. 018. 00

--id

S g S e, HrpsigE
@root="2.16. 156. 10011. 1. 24", Tm
BARI%% 5 BT id/@extension H

DEO1. 00. 008. 00

--id

A5, HAPEaE
@root="2.16. 156. 10011. 1. 14”7, W
BARHI%% 5 BT id/@extension H

DEO1. 00. 003. 00

|--|--patientType

BH I

|--|--]--patienttypeCode

BERHIE, Hrr,
@codeSystem="2. 16. 156. 10011. 2.
3.1.2717, @codeSystemName=" &
RIS R

|--|--telecom

R LT

DE02. 01. 010. 00

|--|--patient

BENMAFEARER, HodgE
@classCode="PSN” ,
@determinerCode="INSTANCE”

o-t-id

BEGMIES, H
@root="2.16. 156. 10011. 1. 3”7, T
BARKI%% 5 BT id/@extension H

DEO2. 01. 030. 00

|--|--|]--name

BEMA

DEO2. 01. 039. 00

|--|--|]--administrativeGenderCode

BENER, S GB/T 2261. 1 bR
A5, H

@codeSystem="2. 16. 156. 10011. 2.
3.3.4”

DE02. 01. 040. 00

[o-t-age

il

DE02. 01. 026. 00

author

IR S BEIW R EEE ), BE
{H@typeCode="AUT”,
@contextControlCode="0P”

|--time

fr ki H

DEO4. 50. 133. 00

|--assigned Author

feEIE®, BRE1ME:
@classCode="ASSIGNED”

o--id

VEF IME—ARIRAF, Hrp
@root="2. 16. 156. 10011. 1. 77, T
BARKIZm5 BT id/@extension
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|--|--assigned Person 1..1

|--|--|--name 0..1 | BRITiEA4 DEO2. 01. 039. 00

custodian L1 i’l‘%’l%ﬁfﬂﬂf@%;ﬁ, HrhshaE
@typeCode="CST

|--assignedCustodian 1..1 | #41E: @classCode="ASSIGNED”
FAK TR SRS A B RGeS 1

|--|--representedCustodianOrg L HAWIA, Hrp

anization @classCode="0RG” ,
@determinerCode="TNSTANCE”
SRR BT LA AR IR, e

foc|--|--id 1..% | @root="2.16.156.10011. 1.5”, ifj
BARKI%m 5 BT id/@extension

|--|--|--name 0..1 | PRE WL AR

legalAuthenticator 1.1 | $HZEIm

|--time 1..1

|--signatureCode 1..1

|--|--assigned Entity 1..1
B2 o5 N bRid,

|oefoe]--idl 1..% | @root="2. 16. 156. 10011. 1. 4",
@extension="[&% N id'5"

|--|--|--code 1..* | Hrp, @displayName="" {% [ JHi”

|--|--|--assignedPerson 0..1

|--|--|--|--name 1| HARERT 4 DE02. 01. 039. 00

authenticator (oL e aT

|--time 1..1

|--signatureCode 1..1

|--|--assigned Entity 1..1
B2 o5 N brid,

|oefoe]-idl 1..% | @root="2. 16. 156. 10011. 1. 4",
@extension="[&% N A%'5"

|--|]--|--code 1..* | Hrr, @displayName="#g36+; )"

|--|--|--assignedPerson .1

|--|--|--|--name 1| T4 DE02. 01. 039. 00

authenticator g8 22

|--time 1..1

|--signatureCode 1..1

|--|--assigned Entity 1..1
B= o5 N bR, H

foefoe]-idl 1..% | @root="2. 16.156. 10011. 1. 4",

@extension="E% N %m5"
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|--|--|--code % | Hrp, @displayName="#546 = Iifi”
|--|--|--assignedPerson .1
|--|--|--|--name N L ol S 1) DE02. 01. 039. 00
participant for B HAE B B Rt 2
|--time .1
|--associated Entity .1
|--|--scopingOrganization .1
id BT
@root="2.16. 156. 10011. 1. 26”
|--|--|--name k| RRIR FE R R 44K DEOS. 10. 026. 00
|--|--]--asOrganizationPartOf .1
|--|--|--|--wholeOrganization .1
Rt IS BRI AR IR, Hor
|-=|-=|~-]--|--id % | @root="2.16.156. 10011.1.5” H
RHIEE T id/@extension H7
|--|--|--|--|--name k| KR FE NI A4 R DE0S. 10. 013. 00

5.3 XEKEZNEMTE

RIPAE BTG 70 2R 4L S 5 Hdia To R NG R ik WA 4.

T4 KREOESEACETREREHESHETAN N X FH

TR AT B ULZEES MRS
IRF

RIVHE R, FIEA RS 5 Y

relatedDocument 0 s MATAERIR AR, BLAC S A A
FHIAB S, 3 T30 B A BB A
AR 6 SRS KA R A5 B

|--parentDocument L1 | A25CHy

|--|--id Lo.ox | SOCRIBRIRAT

|--|--setld 0..1 | THEETFIIG

|--|--versionNumber 0..1 | XHAS

componentOf L.1 | iz

|--encompassingEncounter 1..1

|--|--effectiveTime 0..1

|--|]--location 0..1

|--|]--|--healthCareFacility 0..1

|--|--|--|]--seviceProviderOrganiza

tion

|--|]--|--|--|--asOrganizationPartOf | 1..1

|--|-=|--|--[--]--wholeOrganization | 1..1 | {55
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TR ME—bRIRET, Horp
el cid @root="2.16. 156. 10011. 1. 22", DEO1L. 00. 026. 0
M EAKK %5 B T id/@extension 0
rh
|--|--|--|--|--|--|--asOrganizationP
artOf
|--|-=|--|--|--|--|--|--wholeOrganiza
tion
Wi by g ME— AR,
el id @root="2. 16. 156. 10011. 1. 217, DEO1. 00.019. 0
M HARK w5 BT 1d/@extension 0
ik
|--|-=|--|-=|--|--|--|]--|--asOrganizati
onPartOf
ool wholeOrg
anization
i Bl AR BRI, JLP
@root="2.16. 156. 10011. 1. 26"
I - Tl 44T DEOS. 18. 026. 0
ool fef--asOrgan
izationPartOf
el whole
Organization
T b mAf o
@root="2. 16. 156. 10011. 1. 27"
|--|-=|~-|-=|=-|--[-]-~]-~|--|--|--|]--nam R ARk DEOS. 10. 054. 0
e 0
S
rganizationPartOf
N
holeOrganization
BEyT MU ME— R iR AT, o
|-=|~=|~=|==|==|==[==]==]-=|-=|~=|~=|~-]--]-- @root="2.16. 156. 10011. 1. 5", 1 | DE08. 10. 052. 0
id FARKI%% 5 BT id/@extension 0
rh
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5 NHEAETHR
BB I A iR
Wil = 1..1 R R ZWHeRE R
SEUG EAT B 1..1 R ook SLI ER AR R
or B BT 1..1 R IR 5
6.2 PBUHNERED
6.2.1 BHEHEEMK
W R4 H M RULER 6
6 CHETHEZBMRK
2% H 2K ¥ 23R Eiipy
WL % H 1.% R ES IR Wi gm iy . 2 WiHL 2 FR 12 W H 1%
EJD\
6.2.2 CHRET TTRERK
W E TR AN ET
F=7 CHEIET TREAR
_ . \ XF LB T
TR K Bt HE | AR i ESE 3 .
FRIRARF
component @%ﬁ%ﬁfﬁ?
|--section
code W E A, HoAp
@code="29548-5",
codeSystem @displayName="
|--|--code displayName | 1,.1 R Diagnosis, ,
@codeSystem="2. 16. 8
SPI 40. 1. 113883.6. 17
ame @codeSystemName="L0
INC”
|--|--text N5
|—|--entry ZW % H
classCode He,
|--|--|--Observation od @classCode="0BS”,
moodode @moodCode="EVN”
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SR % H AR, 3
codeSystem ‘:F‘ ,
@codeSystem="2. 16. 1 | DE05. 01. 024.
|--|]--|--|--code 1.. R ”
oSy tom 56.10011.2.2.17, @co 00
codesysten deSystemName=" [ 4=
ane = L c B S
|'--|--|--|--effectiveT » R Ll E DE05. 01. 058.
ime 00
SRS 2% H BUE, H
HERE (E
@codeSystem="2. 16. 1
|-=|-=|--|--value I.. R 56.10011.2.3.3.11.3
”, @codeSystemName="
2 figE (ICD-10)
[o---performer AT Lt
|--|--|--|--|--assigned E
ntity
ool
R E-——
tedOrganization
. DEO0S. 10. 013.
|--|--|-|--|]--|--]--name l.. R Z W LA AR 00
6.3 TREREET
6.3.1 TWEREBFHZBEMK
S A AT B 4% H A LR S
8 TLUEREETHEEMNK
% HEW ¥ 2R Ei3%)
oL WA Rr Y S S| 1.1 R BE R R AT E BTR A B 71244 K
K820 5% H 1.1 R BRI I E P8 W2 VE A A
I H 4 H 1.% R ARSI H 440K S ILAERT € i td ik 2 v AR
B DA R Ay A 45
6.3.2 TREREEBPHTLRAM
SIS A AT T B A R LR
R SU=RESHILEAMR
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_ . . XoF BB U G
TLRBR I B | AR VILERSE 50 .
PRIRRE
TREREZETH
component .
TR
|--section
code SEIG A A = AR
5, HrAr@code="
codeSystem 30954-2 7,
displayName @codeSystem="2. 1
6.840.1.113883.6
|--[--code codeSystemN | 1..1 R 17
ame @displayName="
STUDIES SUMMARY
@codeSystemName=
"LOINC”
|--|--text NBEES 7
|--|--entry 1..1 R Ko 712 R 26 H
classCode He,
|--|--|--Observation noodCode @classCode="0BS
, @moodCode="EVN”
code Hr,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
1// s
ame DE02. 10. 027.
——|-=|--]-=code isplayNam .. codeSystemName=
|-=[-=|--|--cod displayName | I.-1 R @codeSystemN 00
" AR B T
ai‘_//,
@displayName="#&
U yapr ey
BEEZ R
Tt Bk F ks 5
|--|--|--|]--value 1..1 R - . o
@xsi:type="ST”
|--|--entry IR 4 H
classCode Hr,
|--]--|--Observation moodCode @classCode="0BS”
, @moodCode="EVN”
code Hr,
. DEO4. 30. 018.
|--|--|]--|]--code codeSystem | 1..1 R @codeSystem="2. 1 00
codeSystemN 6. 156. 10011. 2. 2.
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ame

displayName

1,
@codeSystemName=
" AR B AR
Hx",
@displayName="#&
520"

|--|--|--|]--value

BRI T H B )&
(I FELHH IR,
[ E=XIEN
@xsi:type="ST”

|--|]--entry

Hg i H 2% H

|--|]--|--organizer

Forihas
@classCode="CLUSTE
R",
@moodCode="EVN"

|--|--|--|--statusCode

|--|--|--|-~component

a6 7 H A

|--|]--|--]--|--Observation

classCode

moodCode

Hr,
@classCode="0BS”
, @moodCode="EVN”

oeeeee--code

code

codeSystem

codeSystemN

ame

displayName

Hr,
@codeSystem="2. 1
6. 156. 10011. 2. 2.
17,
@codeSystemName=
EEEXEISE
Hx",
@displayName="#5
A H A"

DE04. 50. 019.
00

|--|--|-=|--|--|--effectTim

e

56 H 301

DE04. 50. 140. 0
0

oeeeeeeo-value

BE R AT H (e
JE i A S AR
i, SREE
@xsi:type="ST”

|--|--|--|--|--|--entryRelat

ionship

PRA I

|--|--|--]--|--|]--|--Observat

ion

classCode

Hr,
@classCode="0BS”
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moodCode , @moodCode="EVN”
code He,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
17,
ame DE04. 50. 134.
oobepef-code [ displayName R | GcodeSystenNane= 0
" PAEAE BAE T
E %/f’
@displayName="#x
AR
oo e et
iveTime
e ‘ DEO4. 50. 137.
foefefefefelefef---Low R | ARASRAE H I [H] 00
_ ‘ DEO4. 50. 141.
|--|==|--|-|--|--|--|--[-high R | lbcbras H I [R] 00
A E
|--|-=|-=|--|~-|--|--|---value . o
@xsi:type="ST
--|-=|-=|-=|--|--|--|]--entryR _ N
- -
elationship
classCode He,
|--|--|--|]--|]--|--|--Observat ”Ane”
. @classCode="0BS
ion
moodCode , @moodCode="EVN”
code He,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
17,
ame DE04. 50. 135.
|--|-=|-=|--|~-|--]--|--code displayName R @codeSystemName= 00
" PAEAE BAE T
E %/f’
@displayName="#x
PRAVIRZS, A E
|-=|-=|-=|-=[-=[-|--|]--value R . e
@xsi:type="ST
|--|-=|--|-- component R2 o 56 25 RARS 2 H
classCode He,
|--[--|--|--|--Observation moodCode @classCode="0BS"
, @moodCode="EVN”
code Hor, DEO4. 30. 017.
foo---code R
codeSystem @codeSystem="2. 1 00
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codeSystemN 6. 156. 10011. 2. 2.
ame 17,
displayName @codeSystemName=
" DA B YR T
Hx",
@displayName="#
g5 25 JAR”
xsi:type BB
@xsi:type="CD”
code @codeSystem="2. 1
femfee|eefo- |- |-value codeSystemN R 6.15?.10011.2.3
ame 2.387
codeSystem @codeSystemName=
TRt (ki) A5 R
IMEE
|--[-=|--|-- component R2 | KuEeE BAE R AAH
classCode Hr,
|--|--|]--|--|--Observation moodCode @classCode="0BS"
, @moodCode="EVN”
code Hr,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
ame 1”7, @codeSystemN | DEO04. 30.015
eeebo--code R SN
displayName ame=""T {5 H 4K 00
P H X",
@displayName="#%
U=
l---value reee O
@xsi:type="REAL
|-=|-=[--|--[--|--entryRelat R A ELS T E R
ionship A
- Observat (o AT
. moodCode @classCode="0BS
ron , @moodCode="EVN”
code He,
codeSystem @codeSystem="2. 1
codeSystemN 6. 156. 10011. 2. 2.
ame 17 DEO4. 30. 016.
t-l-code displayName R @codeSystemName= 00
" A B R T
Hx",

@displayName="#
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RS R ER
"
it Bl
|-=|~=|--|-~[--|-~|]--]--value xstatype 1..1 R ké.ﬁ pn
@xsi:type="PQ
6.4 KIEHET
6.4.1 WEREETZEHMR
oz B e BT 2k H AL 106
F10 REREETHPEEMK
% BH AWK B 23R iR
36 i 5 25 R 1..1 R TESRAT I o &5 R
I E Rl =4 H 1.1 R ORI R = AR
K 56 4 5 AT LR 24 1.1 R TESR KT I6 4 AL 24 B
%H
g6 %% B 0..1 R2 oA IR 15 AT
6.4.2 WEREETTTRAR
KU 4l A R LR 116
=11 REREETTREARK
— " . Xt B2 T
TCR AWK J=1¢3 HE | LK ICEESE 37 .
PRIRRF
ISR E BRI
component
=
|--section
o 56 4 75 = ATAR
displayN 4, H
mcode isplayName L R ﬁ@' e )
@displayName=""1y
o
|--|--text N
|--|--entry oG 45 R4 H
classCode He,
|--|--|--Observation moodCode @classCode="0BS”
, @moodCode="EVN”
code b,
codeSystem @codeSystem="2.1 | DE04. 50. 130.
ll-l-code Ll R e 156, 10011 2. 2 00
codeSystemN P e
ame LA
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displayName @codeSystemName=
" AR B AR T
H "
xsi:type Ko A i ek 1
|-=|--|--|--value R H
value @xsi:type="ST”
|--|--entry KGR E & H
classCode Hrh,
|--|--|--Observation moodCode @classCode="0BS”
, @moodCode="EVN”
code Hrh,
codeSystem @codeSystem="2. 1
codeSystemN 6;156.10011.2.2. DEGS. 10. 026.
oeo-code ame 1 0
displayName @codeSystemName=
" AR B AR
H "
xsi:type GRS R, B
|--|--|--]--value value H1iE
@xsi:type="ST”
entry or A i ALAL 44
% H
classCode Hr,
|--|--]--Observation moodCode @classCode="0BS"
, @moodCode="EVN”
code Hr,
codeSystem @codeSystem="2. 1
codeSystemN 6;156.10011.2.2. DEOS. 10. 013,
eee--code ane 1 0
displayName @codeSystemName=
" AR B YR T
H "
xsi:type K 364 25 HLA4 44
|--|--|--|--value value PR, SREE
@xsi:type="ST”
leentry RIS B
2 H
classCode Hrh,
|--|--|--Observation moodCode @classCode="0BS”
, @moodCode="EVN”
[--|--I--I--code code o, DEO06. 00. 179.
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codeSystem @codeSystem="2. 1 00
codeSystemN 6. 156. 10011. 2. 2.
ame J

displayName @codeSystemName=
" PAAE B AE T
Hx"

xsi:type K38 A IR R
|--|--|--|--value value 1..1 R B, shEE

@xsi:type="ST”
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Mt R A
(ZERMMEMIR)

(L% 4=3"& = BNl

<?xml version="1.0" encoding="UTF-8"?>

<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalLocation="urn:hl7-org:v3 ..\sdschemas\SDA .xsd">

<l--

s she sk sfe sk she st sie sfe she sk sfe sk ske sfe sk sk s sie sfe sk sfe sk sk she sk ske st sk sfe sfe sk sfe sk sk ste st sfe sk s sfe sk sk ste sk sfe sk ske seskeske siesie sk sk

CDA Header

stk st ok ok ok stk ok ok skl ko ok ok sk ko ok ok kb ok ok ok ok ok ok ok ok ok ok ok
>
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.27"/>

<l-- XHHRAKE >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0007" codeSystem="2.16.156.10011.2.4" codeSystemName=""T 4= {5 5 3t = R ik R "/>
<title>H 46 ic sK</title>

<l-- SCRYMLAS A B TE] ->
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F i 1 [n] {1 2 25" />

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<l RERX R (BE) >
<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">

<1 (RO B5ARR >
<id root="2.16.156.10011.1.11" extension="E10000000"/>
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<1 (B SR>
<id root="2.16.156.10011.1.12" extension="HA201102113366666"/>

<!t Bk S bR
<id root="2.16.156.10011.1.33" extension="HA201102113366666"/>

<At T LR
<id root="2.16.156.10011.1.24" extension="HA201102113366666"/>

<l-- KA AR TR >
<id root="2.16.156.10011.1.14" extension="213"/>

<l BHERHE >
<patientType>
<patienttypeCode code="1" codeSystem="2.16.156.10011.2.3.1.271" codeSystemName="/54
FKARALER" displayName="1]i2"></patienttypeCode>
</patientType>

<telecom value="020-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">

<|--FBH B AE S bRt -—>
<id root="2.16.156.10011.1.3" extension="420106201101011919"/>

<name> 54 /N B </name>

<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName="" B {4 H X% (GB/T 2261.1) "/>

<o G >

<age unit="%" value="24"></age>

</patient>
</patientRole>

</recordTarget>

<l-- IR Em COafEE) >
<author typeCode="AUT" contextControlCode="OP">

<l-- fEHRk S HH) >
<time value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
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<l BN >
<assignedPerson>
<name>ZF % 2f </name>
</assignedPerson>
</assigned Author>

</author>

<l RENI >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">

<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">

<id root="2.16.156.10011.1.5" extension="[E& 7 P =N LM% 5 "/>

<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<l-- HRZENZYS >
<legal Authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="Ex 55 \ i 4 5 "/>
<code displayName="" #% [% Jii"></code>
<assignedPerson classCode="PSN" determinerCode="INSTANCE">
<name>XI|[%& A </name>
</assignedPerson>
</assignedEntity>

</legal Authenticator>

<l KIIAINRES >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="1% 45 \ A %5 "/>
<code displayName="# 36+ il "></code>
<assignedPerson classCode="PSN" determinerCode="INSTANCE">
<name>#k % F </name>
</assignedPerson>
</assignedEntity>

</authenticator>
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<l-- WIREINRE4Y >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="Ex 55 A\ i 4 5 "/>
<code displayName="# ¥ 1 X Jii"></code>
<assignedPerson classCode="PSN" determinerCode="INSTANCE">
<name>fh % F </name>
</assignedPerson>
</assignedEntity>

</authenticator>

<l-- FR58 HIEHLA At E >
<participant typeCode="PRF">
<associatedEntity classCode="ASSIGNED">
<scopingOrganization>
<id root="2.16.156.10011.1.26" extension="001"/>
<name>fi 5 FEF} % </name>
<asOrganizationPartOf>
<wholeOrganization>
<id root="2.16.156.10011.1.5" extension="F % FH & WL 4 5 "/>
<name>F5 56 B 1 ML M) </name>
</wholeOrganization>
</asOrganizationPartOf>
</scopingOrganization>
</associatedEntity>

</participant>

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>

<l KT BT I BEEME R >
<componentOf>
<encompassingEncounter>
<effectiveTime/>
<location>

<healthCareFacility>
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<serviceProviderOrganization>
<asOrganizationPartOf classCode="PART">
<!-- DE01.00.026.00%% /K5 -->
<wholeOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.22" extension="001"/>
<!-- DE01.00.019.00% 55 -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.21" extension="001"/>
<!-- DE08.10.026.00F} & 4 FK -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.26"/>
<name>FEI Y Bl </name>
<!-- DE08.10.054.00%% [X 44 FK -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.27"/>
<name>1% [X </name>
<I--XXXEEPi -->
<asOrganizationPartOf
classCode="PART">
<wholeOrganization
classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5"
extension="001"/>
<name>XXX% Bt </name>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</serviceProviderOrganization>
</healthCareFacility>

</location>
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</encompassingEncounter>

</componentOf>

< | 3k stk st sk ok sk ok stk sk sk ok sk sk stk sk sk ok sk sk stk sk sk sk stk stk sk sk stk stk sk sk stk ok ok sk ok ok

W HiABody

st s s st sfe sk sk s sk s sk sk stk sk stk st sk sk st s sk stk sk steosk sk sk sk st skosk sk sk skl skoskoskoskoskokoko ok skokokskokok sk
>
<component>

<structuredBody>

<l-- ZHHLRET->
<component>

<section>

<code code="29548-5" displayName="Diagnosis" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC"/>

<text/>
<--%H: k>
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.024.00" displayName="12 Wi{LiZ"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥k ¢ H 3"/~
<I--iZWr HIH-->
<effectiveTime value="20120201"></effectiveTime>

<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.3.11.3"
codeSystemName="1ZWi{0iGF* (ICD-10) "></value>

<performer>
<assignedEntity>
<id/>
<representedOrganization>
<name>12 Wi/l ¥4 </name>

</representedOrganization>

</assignedEntity>
</performer>
</observation>
</entry>
</section>
</component>

<1-- S0 TG A >
<component>
<section>
<code code="30954-2" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="STUDIES SUMMARY"/>
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<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.027.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="F& % /7 7% % FK"></code>
<value xsi:type="ST"> #4252 [ 2= 10 A il H ir >k F (1A 56 77 V5 44 0
</value>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.018.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T 415 /& 445 7C H 3" displayName="£ %2 5|"></code>
<value xsi:type="ST"> 58 101 H it J& i) 28 01l E 4 Hf ik </value>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.019.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="F& % 11 H A5 "></code>
<l-- tERmf A >
<effectiveTime value="20120405"/>
<value xsi:type="ST"> #5601 H 7E4F € g b5 1k R H IS </value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.134.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 445 7C H 3" displayName="#x A4 5|"></code>
<!-- DE04.50.137.00%5 A< A% H 31} 1]
DE04.50.141.00  #ZMSchrA H I 8] -->
<effectiveTime>
<low value="20130101110103"></low>
<high value="20130102110212"></high>
</effectiveTime>
<value xsi:type="ST">{5 A& jjl</value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.135.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 445 7C H 3" displayName="#x AR "></code>
<value xsi:type="ST">f5 AR5 </value>
</observation>

</entryRelationship>
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</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.017.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4-15 5 545 7¢ H 3" displayName="# % 25 F AL "></code>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.38"
codeSystemName="f& #r (fr4) &5 PRI K "></value>
</observation>

</entry>

<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.015.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="F3 % & & 25 R "></code>
<value xsi:type="REAL" value="1.1234"></value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.016.00" displayName="# ¥ & & 45 R 1T &
A" codeSystemName=""T 415 B 445 7t H X" codeSystem="2.16.156.10011.2.2.1" />
<value xsi:type="ST">ml</value>
</observation>
</entryRelationship>
</observation>
</entry>
</section>

</component>

<l KRR R >
<component>
<section>
<code displayName="H 48} 15" />
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & H(#f 70 H 3" displayName="H 55 & &5 K "/>
<value xsi:type="ST"># £ i 5 &5 i </value>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.10.026.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T. {5 B #5760 H 5" displayName="fu %3 1 £l = "/>
<value xsi:type="ST">fu 4 1 £ %= </value>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.10.013.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T /{5 & (4 76 H 3" displayName="# 35 7 W14 4 F5"/>
<value xsi:type="ST">fu 44 5 W14 44 Fr</value>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.179.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #5760 H 5% " displayName="7 %4 1 £ E"/>
<value xsi:type="ST">fu 44k 7 %V E (S S </value>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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